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  gqPB g¤so ƒ fszB GkrK ft¤u tµfvnk frnk j? . fJ; ft¤u e[¤b 12 gqPB jB . nµeK dh tµv 
j/m fby/ nB[;ko j? L  
 
Gkr BµH I  gqPB BµH 1 s'A 4 s¤e  d'^d' nµeK tkb/ jB .jo/e gqPB dk T[¤so 20^30 PpdK ft¤u j' ;edk 

j? .fJj ;ko/ gqPB j¤b eoB/ bkIwh jB . 
 
Gkr BµH II gqPB BµH 5 s'A 8 s¤e fszB^fszB nµeK tkb/ jB . jo/e gqPB dk T[¤so 60^80 PpdK dk j' 

;edk j? . fJj ;ko/ gqPB j¤b eoB/ bkIwh jB . 
 
Gkr BµH III gqPB BµH 9 s'A 12 s¤e gzi^gzi nµeK tkb/ jB . jo/e gqPB dk T[¤so 80^120 PpdK dk j' 

;edk j? . fJBQK ;ko/ gqPBK ft¤u 100# nµdo{Bh S'N j? .  
 

Gkr BµH I 
1H s/b phi tkbhnK fe;/ uko |;bK d/ BK fby' .        2 
2H gP{nK ftZu pKMgD d/ e'Jh d' ekoB fby' .        2 
3H izs{nK d[nkok cbK ns/ phiK dk ft;oiB fet/A j[zdk j? <      2 
4H xkj d/ fNZv/ ftZu ;kj fefonk fet/A j[zdh j? <        2 

2 nze x 4 = 8 nze 
Gkr BµH II 

5H rzB/ dh |;b B{z fvZrD s'A fet/A pukfJnk iKdk j? <       3 
6H rb^x'N{ o'r dhnK e'Jh fszB fBPkBhnK fby' .        3 
7H eo{;hc/oh c?fwbh d/ e'Jh fszB bZSD fby' .        3 
8H firo rqzEh tZb'A ehs/ ikD tkb/ e'Jh fszB ezw fby' .       3 

3 nze x 4 = 12 nze 
Gkr BµH III 

9H po;hw B{z bZrD tkb/ ehV/ ns/ T[BQK dh o'eEkw pko/ fby' .    
iK 

 NwkNo dhnK fe;/ gzi T[ZBs fe;wK pko/ ikDekoh fdU .      5  
10H d[Xko{ gP{nK dh u'D eod/ ;w/A fXnkB oZyD :'r e'Jh gzi rZbK fby' .    

iK 
 w[orhnK gkbD d/ e'Jh gzi bkG fby' .        5  
11H gqekP ;zPb/PD ns/ ;kj fefonk ftZu e'Jh gzi nzso fby' .    

iK 
 g"d/ ftZu gokrD s'A P[o{ eoe/ phi pDB sZe dhnK nt;EktK dk toBD eo' .    5  
12H wkdk yor'P dh iDB w{so gqDkbh dk toDB eo' .     

iK 
 Pfjd dhnK wZyhnK gkbD d/ e'Jh gzi bkG fby' .       5  

5 nze x 4 = 20 nze 
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